Subject: Working through Odds Ratios
Posted by shivani on Fri, 19 Apr 2024 11:08:00 GMT

View Forum Message <> Reply to Message

Hi,

| am want to calculate the odds ratio for NNMR, IMR, CMR across social categories for which | am
using the variable b6 and b7.

However, there is some error | believe in data as the age at deaths (captured by b6 and b7)
shows values greater than 60 months (in the variable b7).

Approx 8000 observations in b7 variable are greater than "60".

Can someone help me with that?

additionally, I hope my approach is correct in which | am only including those observations with
b7==0 if the child didn't survive first three years as "having incurred neonatal mortality" in
comparison to a live child of age 1 month?

Thanks
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